
Tie-Bar Installation Guide
REFER TO THE FULL INSTALLATION GUIDE FOR STEP BY STEP INSTRUCTIONS. 

3 way tie bar set up detail

IMPORTANT - TIE-BARS MUST BE FITTED PRIOR TO GLAZING

Note: Fix sleeving sections (TBC010) to 
centralise outer cover along bar length.

•  To fit simply offer plates together (through boss ring) and turn in 
opposite directions, ensuring plate facing turns anti-clockwise, until 
plates are firmly in position

•  DO NOT OVER TIGHTEN!

CONDUIT INTO MAIN BOSS-COVERPLATE FITTING

PACKING REF:

TFKD 003/TFKA 005 May 2023

CONDUIT SLEEVES INTO BUSH

NB: Bracket not included in the tie bar pack 
(supplied separately or pre-attached to glazing bar)

3 WAY TIE-BAR QTY 3 WAY BOLT KIT QTY

TIEA001/3 1 TBK003 1

BCPA001 1 TBN001 7

TTR001 1 TBW002 7

TBC010 9 KBC075 1

KBS001 2

RRC004 2

CONTENTS

CIL085C

Cover plates 
(BCPA001)

Pre fitted M10 nut 
(RRC004)



2

M10 Nyloc Nut 
TBN 001

TIE A001/3

Flat Washer
TBW 002

WHEN A TIE BAR IS SPECIFIED, IT IS A STRUCTURAL REQUIREMENT & MUST BE FITTED

3 WAY BOSS FIXINGS

Prior to starting installation check 
the ridge is level and the side frames 
are plumb. THIS IS CRITICAL TO 
THE SUCCESS OF THE OVERALL 
INSTALLATION.

3 WAY BOSS
1. Measure the drop for the vertical threaded bar 

and cut to length. Attach the gusset plate to the 
threaded bar with the nyloc nuts provided and 
fit the gusset plate to the ridge body using the 
two screws provided. Check alignment with the 
pre-attached tie bar brackets.

2. Fit the pvc ridge undercladding. Drill an 11mm 
hole in it and clip the pvc ridge undercladding 
into place.

3. Measure, cut and attach the horizontal threaded 
bars, ensuring that the tie bar boss is central. 
Loosely assemble the threaded bars to the boss 
ring checking that they terminate inside the ring. 
Dis-assemble.

4. Slide the upper ridge cover over the piece of 
vertical threaded bar and insert into the ridge 
undercladding.

5. Cut the pvc conduit to length, taking care to 
allow for its inset into the bracket and boss. 
Slide the vertical pvc conduit over the threaded 
bar and push into the ridge cover.

6. Insert the smaller diameter pieces of pvc 
conduit. Offer into the boss ring and finger 
tighten the nyloc nut.

7. Fit the horizontal pieces of pvc conduit and 
insert threaded bar into the ring. Finger tighten 
the nyloc nuts.

8. Check the elements are level and plumb and 
spanner tighten the boss nyloc nuts. CHECK 
THAT THE SIDE FRAMES ARE STILL PLUMB.

9. Fit the two part rose cover.

GUSSET PLATE

CIL 085a TIE-BAR INSTALLATION

IIMM PPOO RRTTAANN TT  --  

TTIIEE--BBAARRSS  MM UUSSTT  BBEE  FFIITTTTEEDD  PPRRIIOO RR  TTOO   GG LLAAZZ IINN GG

1. Fix gusset plate with screws provided at required position.

2. Attach vertical threaded bar (TTB 001) to ridge gusset plate,

aligning with centres of glazing bars and plumb down.

3. Tie-bar brackets (TBB 001) are to be used:- Firstly place packer

supplied inbetween GBC and glazing bar where the bar is to be �t-

ted, this can be achieved either by sliding packer in at eaves or

removing GBC.

4. Next attach brackets central on GBC, using 4 No M6 bolts (sili-

cone seal round bolt holes). Ensure brackets are level and a maxi-

mum of 100mm above eaves beam. (Bush must be placed in bracket

prior to �tting)

5. BBoossss  ppoossiittiioonn:: Roughly cut vertical bar and attach to hanging

bracket. Fix boss ring to end of vertical bar.

6. Measure, cut and attach horizontal bars ensuring boss ring is kept

central. Slight adjustment may now be required on vertical bar.

7. Measure and cut all conduit, ensuring allowance is taken for inset

of conduit at bracket and boss. (See before)

8. Drill a 11mm° hole at relative position in ridge undercladding. Fit

undercladding conduit and ridge cover, ensuring sleeving sections

are �tted equally spaced on threaded bar.

9. Tighten horizontal bars to suit. (Note:- Keep constant check of

external frame alignment)

55  WW AAYY  BBOO SSSS

Install in same order as 3 way.

1. Top cover plate must have central sphere and plastic threaded

part removed.

2. Bracket supplied is used for hanging boss.

GG UUSSSSEETT  PPLLAATTEE

M10 Nyloc Nut

M10 Flat Washer

M10 Vertical Bar

TBW 002

TTB 001

TBN 001

TBC 001

Conduit Sleeve
TBC 002

Gusset Plate

Tie Bar Conduit

KBC 075

TTR 001
Ridge Cover

M10 Horizontal Bar

Tie Bar Conduit
TBC 001

TTB 001

TBB 001
Tie Bar Bracket

M6 Nut & Bolt

Plastic Packer

Glazing Bar 
Undercladding

Silicone

Bolt Cover
TBBA 001/2

TBN 001
TBW 002

M10 Nyloc Nut

Intersection Point

M10 Flat Washer

TIE 001/3
Tie Bar Boss Ring

TBT 001
Rose Cover

BBOO SSSS  PPOO SSIITTIIOO NN

55  WWAAYY  BBOO SSSS

TTIIEE--BBAARR  BBRRAACCKKEETTSS

TTBBNN 000011 99

TTBBWW 000022 99

KKBBCC007755 11

KKBBSS000011 22

BBHHBB000011 11

TTIIEE000011// 55 11

BBCCPPAA000011 11

TTBBTT000011 44

TTTTRR000011 11

TTBBCC001100 1155

TTBBKK000055 11

CCOO NN TTEENN TTSS  OO FF  55  WW AAYY  TTIIEE--BBAARR QQTTYY

CCOO NN TTEENN TTSS  55  WW AAYY  BBOO LLTT  KKIITT QQTTYY

TIE-BAR BRACKETS
M6 Nut & Bolt

Glazing Bar  
undercladding

Tie Bar Bracket Body 
(TBBD 001/1)

Job No.: 3414   CIL085C      Tie Bar Install       05/23               
It is Ultraframe’s policy to continually seek to improve its products, processes and services, and we reserve the right 
to change specifications without prior notice.  Ultraframe is a trading name of Ultraframe (UK) Limited.

www.ultraframetrade.co.uk 

Tie Bar Bracket 
Cover 
(TBBC 001)

Tie Bar
Conduit 
( TBC 300)

Conduit 
Sleeve 
(TBC 010)

M10 Threaded 
Bar (TTB 001)

Plate screw 
(KBS 001)

(TTB 300)

(TBC 010)


